SA: DED
¥ nSAY W (NSLEF/UHS0S - =F[SIIE
Rl HESuWSAHIA SFat EER=E)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
wsut 51,164,581 44,632,693 6,531,888
= 10,228,000
[ 8,184,000
Jl 6,227,000
== 26,525,581
WEHY N (NSAER/USLS - 2RSIIEY 38,509,5%6 36,532,463 1,977,133
= 10,228,000
[ 8,184,000
J| 6,227,000
== 13,870,5%6
HSnsSAblA efat 29,392,468 25,904,029 3,488,439
= 10,132,000
= 6,574,000
) 6,227,000
S 6,459,468
Hsus MBlA e 297,140 225,590 71,550
202 04| 20,000 20,800 A800
01 2LHAH| 20,000 20,800 A800
olsusS 2 ¥ NEEHIAMY sXl=tel 5,000
002 & = NSK 2+ A 15,000
308 XXM SOl 31,500 31,500
01 HRHH B E2ES 31,500 31,500
O=HAl THXHHIE XI& 31,500
403 MR HHMSAHE01H 245,640 129,790 115,850
01 MHXIHH A 22X 245,640 129,790 115,850
OWAXSIHEHDIE 2tFHd 20,640
OQIMARAXNT JISsE XA 40,000
OIHIHAl 2=BALL 2202 e 15,000
O HAISZE HIOHE Xt £X1 X2 50,000
OHAZEFE & - 28 ¥ XA 50,000
OANIE HAYRE EXIAE 70,000
MNAHA =2 E(=1) 7,146,750 4,979,000 2,167,750
= 5,497,500
= 1,649,250
403 AXIEHHSAH=0I 7,146,750 4,979,000 2,167,750
= 5,497,500
== 1,649,250
01 AR A 22 £ 7,146,750 4,979,000 2,167,750
OM&AHA ZJEL 7,146,750
= 5,497,500
< 1,649,250
Sgusso SYEX(21) 1,433,250 1,375,400 57,850
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SA: DED
¥ nSAY W (NSLEF/UHS0S - =F[SIIE
Rl HESuWSAHIA SFat EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 1,102,500
=S 330,750
403 AXIEHHISAH=0l 1,433,250 1,375,400 57,850
= 1,102,500
== 330,750
01 AXISHHA 22 % 1,433,250 1,375,400 57,850
SgEusSst CYEX 1,433,250
= 1,102,500
& 330,750
CAE NS2Y(S3E HA)(=1) 973,972 938,842 35,130
[ 351,000
= 622,972
308 KtXIEMSO0IE 973,972 938,842 35,130
= 361,000
=S 622,972
01 XN BELES 973,972 938,842 35,130
OSUEXIA SILEHAI(A) 973,972
= 361,000
< 622,972
SEE NsS2e(338 9A(=RD) 1,793,944 1,555,718 238,226
[ 548,000
= 1,245,944
308 AtXIEHMSOIE 1,793,944 1,555,718 238,226
s 548,000
= 1,245,944
01 AXEHHBSE LS 1,793,944 1,585,718 238,226
Os0EXS 3 LEAI(Z) 1,793,944
s 548,000
== 1,245,944
SIAl 2T AAE (2 D) 507,000 565,500 /58,500
= 507,000
308 XtXIEMSO0IH 507,000 565,500 /58,500
= 507,000
01 X SHHNBAEXS 507,000 565,500 /58,500
O&IAl X XIE 507,000
= 507,000
BANRE Jtex==8 K& 368,626 373,312 N\4,686
308 AMXIHSOIA 368,626 373,312 N\4,686
01 HASHHBSEERS 368,626 373,312 A4,686
OYAIRS It X3 368,626
Egussg 2SR (0I3) 6,227,000 5,794,000 433,000
Jl 6,227,000

- 808 -




SA: DED
¥ nSAY W (NSLEF/UHS0S - =F[SIIE
Rl HESuWSAHIA SFat EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
307 elztol & 1,107,744 1,175,000 N67,256
Jl 1,107,744
05 git?(& = 1,107,744 1,175,000 N67,256
OZS0IsSXFHH 522l 1,107,744
7l 1,107,744
308 AtAIEMSOIE 5,119,256 4,619,000 500,256
Il 5,119,256
01 XN B2 LS 5,119,256 4,619,000 500,256
OAlz SEuSsH =249 A& 5,119,256
Jl 5,119,25
SgussH 2SN (21) 2,180,000 2,261,000 /81,000
= 2,180,000
308 AtXIEMSOIE 2,180,000 2,261,000 /81,000
= 2,180,000
01 XN BSELES 2,180,000 2,261,000 /81,000
Sgusst 28N 2,180,000
= 2,180,000
Sgussg 29X3(%) 242,286 242,286
308 XXM SOIA 242,286 242,286
01 XN B2 LS 242,286 242,286
OOISAHHE 282 212H| K& 242,286
CAIE NS (338 HA)(21) 2,730,000 2,730,000 0
[ 2,100,000
= 630,000
308 AtXIEHMSOIE 2,730,000 2,730,000 0
[ 2,100,000
= 630,000
01 AX N B2 LS 2,730,000 2,730,000 0
OTAE NERL(S2E HA) 2,730,000
= 2,100,000
=S 630,000
SEE NS2e(338 HA)(2D) 4,647,500 4,290,000 357,500
= 3,575,000
< 1,072,500
308 AXIHSOIA 4,647,500 4,290,000 367,500
s 3,575,000
= 1,072,500
01 HAHHBHEXRS 4,647,500 4,290,000 367,500
O=Z8 ns2g (338 H2) 4,647,500
[ 3,575,000
= 1,072,500
UHzsnsyl &=z Xd AFE(K-THA)(21) 845,000 131,600 713,400
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SA: DED
¥ nSAY W (NSLEF/UHS0S - =F[SIIE
ol U uSAElA ety EER=E)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
= 845,000
308 AtAIEMSOIE 845,000 131,600 713,400
= 845,000
01 XN BELES 845,000 131,600 713,400
otizsnsHl &= X K-H2A) 845,000
= 845,000
S HE X 8,442,328 10,260,580 1,818,252
= 1,610,000
= 6,832,328
AMAHAZSAIY THEXIE 2,961,200 3,957,600 996,400
307 elztol & 2,961,200 3,957,600 996,400
09 2s-gAELS 2,961,200 3,957,600 996,400
OANAHAZSAE HEXZ 2,000,000
OALIBA 2SN 220 A HE X2 961,200
AU - SHEHAZSAIE HE XIS 2,566,460 3,559,980 993,520
308 AHXIHMSO0IA 2,566,460 3,559,980 993,520
01 RSN EES 2,566,460 3,559,980 993,520
OAlU - SHEHAZSAIE HEXIE 2,000,000
OAIL - SHEHA S+SAAL 220 N
SR 566,460
HXsd 2B (ZD) 2,716,668 2,555,000 161,668
[ 1,610,000
= 1,106,668
307 @I2to| & 66,667 0 66,667
[ 20,000
= 46,667
09 2FAHE 66,667 0 66,667
OAAHA EXLd =24 66,667
s 20,000
= 46,667
308 AXIMSOIA 2,650,001 2,555,000 95,001
= 1,590,000
< 1,060,001
01 HAHHBSEEXS 2,650,001 2,555,000 95,001
O8N d &=a=2a 2,650,001
s 1,590,000
= 1,060,001
X SgHA X2 18,000 18,000 0
308 XtXIEMSO0IH 18,000 18,000
01 AXEHB 2 LS 18,000 18,000
O2X g K& 18,000
HASSAMENL X2 2SS 150,000 140,000 10,000
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A DED
HI: NSHNEA H(DELSF/E2)
el WSoHNAlE 5 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
LOIE SR IHEA (Z) (HEALY) 790,000 1,290,000 A500,000
401 AlZHIZL SR 790,000 1,290,000 500,000
01 Al&ZH] 790,000 1,290,000 500,000
OLQES7Y e (HE) 790,000
LIS T N (AIZ)(HEAIY) 532,000 465,000 67.000
403 XHXI M SXH=0I & 532,000 465,000 67.000
01 RIXISHRIRH=E X 532,000 465,000 67,000
LOISS RN I (HE) 532,000
OIRI0I2E PN HEA(Z)(REAIY) 1,426,000 1,640,000 214,000
401 AlEHIZL S CHYI 1,426,000 1,640,000 214,000
01 Al&H] 1,426,000 1,640,000 £214,000
002012572 M (HE) 1,426,000
ORI0IE SR HEAR (AIR)(HEAIY) 2,877,000 2,870,000 7,000
403 XHXI M SXH20I & 2,877,000 2,870,000 7,000
01 XIS 2L E 2,877,000 2,870,000 7,000
O0RI0I2E 7S M (X&) 2,877,000
FXEE NAA (REAIY) 3,010,327 1,446,900 1,563,427
403 XHXI M SXH=O0I & 3,010,327 1,446,900 1,563,427
01 RXISRIAHEE X 3,010,327 1,446,900 1,563,427
OFXIEHA M (F&) 3,010,327
FXEE HCOAIR (SHED & SHE FUE =) 100,000 0 100,000
403 XIXISHHISKH=0I ™ 100,000 0 100,000
01 AR HAH=E X 100,000 0 100,000
OHHED ¥ SWE FUE ZH| 100,000
FXEE WAL (SSHARET| UAIFIE Z4) 15,000 0 15,000
403 XX HIS =01 ™ 15,000 0 15,000
01 XIS 2L E 15,000 0 15,000
S AR YAFUHE =4 15,000
FXEE HEAI (BEIZ SSFNE =4) 20,000 0 20,000
403 XHXI A SXH=O0I & 20,000 0 20,000
01 RXISRIAH=E X 20,000 0 20,000
OZEIY SYFIH =4 20,000
AF FSNSK SYXDX ALK (HEAIY) 3,500,000 0 3,500,000
403 XIXISHHIS X201 ™ 3,500,000 0 3,500,000
01 RXISHAH=E X 3,500,000 0 3,500,000
O%=F SISNEX SLX DX ALK (H
&) 3,500,000
HI2AAH (WS (JIEHIIEH 37.658 37.330 328
Jl=2z 37,658 37,330 328
2N2Y =23 37,658 37,330 328
201 Yer2d| 25,698 26,130 A4
01 AtR22lt| 25,69 26,130 A4
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FA WS
. dZ2I3H(nsSH) (OIEH/IIE
el J1=2 3 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
ORAME2Y AtR2clH] 25,698
202 04l 8,360 7,600 760
01 =LHOHI 8,360 7,600 760
SAE2E U 8,360
203 =4l 3,600 3,600
MU FA2SHIFII 3,600 3,600
©202! Olat 300,000& * 122 3,600
Heegs(nsh)(LSHEF/USRS - S7SIIE) 331,500 0 331,500
WA XIE 331,500 0 331,500
FREE HEAE (Al - EXISHLD1S) 331,500 0 331,500
705 O~ &S 331,500 0 331,500
04 Al - EXISHED IS0~z 0l Ktad gt 331,500 0 331,500
©'238 FxE HHAIG (Al - EXIHHE D]
3) 331,500
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